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acs51/admin#show clock
Wed Jun 13 11:02:00 IST 2012
acs5l/admin#

acs51/admin(config) #ntp server 192.168.26.55
The NTP server was modified.
If this action resulted in a clock modification, you must restart ACS.

acs51/admin (config) #

acs5l/admin#show ntp
Primary NTP : 192.168.26.55
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synchronised to NTP server (192.168.26.55) at stratum 2
time correct to within 27 ms
polling server every 64 s

remote refid st t when poll reach delay offset jJjitter
127.127.1.0 LOCAL (0) 10 1 29 64 17 0.000 0.000 0.001
*192.168.26.55 .LOCL. 1l u 33 64 17 0.285 -9.900 2.733

Warning: Output results may conflict during periods of changing synchronization.
#1: Stratum2 NTP M7} 7|2 & ZE ol Lot 28 XIE XI™H st S LICH stratum
n M2t S718tEl 2 NTP 22t0|HE & stratum n+1 0|2t §fLICtH.

NTP S7|3t MF HE & #elste{H ACSHAM B of Z2[7[0lMd 2 HAIX|E B ZstAAIL.

acs51/admin# show logging application | in ntp

Jun 13 13:51:59 acs51 ntpd[20259]: ntpd 4.2.0a@1.1190-r Mon Jul 28 11:03:50 EDT 2008 (1)
Jun 13 13:51:59 acs51 ntpd[20259
Jun 13 13:51:59 acs51 ntpd[20259
Jun 13 13:51:59 acsb51 ntpd[20259]: Listening on interface wildcard, ::#123

]: precision = 1.000 usec

1

1
Jun 13 13:51:59 acs51 ntpd[20259]: Listening on interface lo, 127.0.0.1#123

1

1

1

: Listening on interface wildcard, 0.0.0.0#123

Jun 13 13:51:59 acsb51 ntpd[20259]: Listening on interface eth0O, 192.168.26.51#123

Jun 13 13:51:59 acs51 ntpd[20259]: kernel time sync status 0040

Jun 13 13:51:59 acs51 ntpd[20259]: frequency initialized 0.000 PPM from /var/lib/ntp/drift
Jun 13 13:51:59 acs51 ntpd: ntpd startup succeeded

Jun 13 13:55:15 acs51 ntpd[20259]: synchronized to 192.168.26.55, stratum 2
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